3 (Sem—6) STS

2017

STATISTICS
( General )

Full Marks : 80 _
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamesé€

UNIT—1
oNB—>

1. Answer the following as directed :

wore. fRacaR fACHIRPIR Ber o

() Sample mean is always consistent
estimator of the population mean.

e g TICER WY Wis R o |
(i) True/¥S '
(i) False/SFre]

(itj) Partly true/gHis 371 .
(Choose the correct option)

(s Tach! if Tfre)
( Turn Over )

1x10=10
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(2) : (3)

(b) The term ‘CL’ denotes either of the two

(e) Which of the following diagrams is not
control limits in a control chart.

used in statistical quality control?

9 Fga e qEte R @ @ AR @ Frgee weR el B
g A ‘CL’E Lo = | ﬁ: IR T/ ?
(i) True () R-chart
L) o R-7foq
(i) False | (ii) X-chart
ey . : i - X-fog
- (Choose the correct option) (iii) Pareto diagram
(= Tesch! AR Sfere) CoICTH1 B
(c) All OLS estimators are linear (iv) OC curve
estimator. OC &R
9 OLS TR T (RS IR | (Choose the correct oPtior)
) Tru twacar e SN
(i) True : (va e
E) - d
} () I T, and T, be any two UoPIEPS
(i) False estimators of 6, * such
. (+
wTe] » . V@M)<V(Ty), then 18 the mo
" (Choose the correct option) ' efficient estimator.
(w7 TaTh IR Them) W T, T, 67 R T P T
il @z T
(d) What does the term FORTRAN stand [ IS V(R) <V(Tp), OB —
for? | ~ A (Fill in the blank)
FORTRAN *3(oR =g & 2 (R 5% o] M)
| . °
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(4)

(g) State whether +145-8E is a real

constant.

+145- 8E 95l ITT FF TA ?
(Write Yes/No)

(/7= forn)
The more efficient estimator of
population ~mean for normal

distribution is

TG BT STARY TR Q@R T S
2 |

(i) sample median

ﬁ%ﬂﬂm

(i) sample mean

aAfSwf T

(iii) Both (i) and (ii)
() =% (i) Tew

(iv) None of the above
ST YBIS
(Choose the correct option)

(u% SeTh! AR ferean)

A7/626 ( Continued )

(S)

(i) State whether COUNT is an integer
variable name.

COUNT *¥iCB1 S19@ 5o A 23 2 ?
(Write Yes/No)
(=/~= o)

() The UCL for an R-chart is

R’-ﬂ:ﬁr«i UCL 27
(i) RDg

(i) X+ AR

(i) RD,

(Choose the correct option)

(o5 TawH AR wfred)

) . jef :
2. Answer the following questions m bnezx 5=10
o 2PNARS O Ta fora :
ics?
(@) What are the uses of econometrics

iR TR ol |
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(6)

(b) State the properties of good estimator.

(c)

(d)

(e)

A7/626

el SRR TR T |

Differentiate between ‘process control’
and ‘product control’.

‘ofF g’ oI “Teoims Raga’s <1
foram

Write about the two types of
expression defined in FORTRAN.

FORTRANS J92H (T@I TR R &P
ot | |

Write  the  correct ~ FORTRAN
expression for the following :

1] FORTRAN 29PS w5 S9iCh! ot :

(_l)ix2i+1 /2y

{ Continued )

(7)
UNIT—2
eN—R
3. Answer any four of the following
questions : 5x4=20
o R e wifket e Tew for

(@) Write down some applications ©of
C-chart in industry and commerce-

T o SogeR cwas  C-IRPAd
TR o o

() Give a brief idea of software and
hardware of computer.

FofttRe TROER o FeEd TE L
g o o

(c) What are the statistical assumptions
of linear regression model?
- A
wfSererTz R, ot |

(d) Write in detail about, FORT
constant and variables.

FORTRAN?WWWW R
foran ‘

A7/626 " ( Turn Over )
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(8)

fe) Obtain an unbiased estimator of 62,
where 6 is the parameter of the
binomial distribution.

QAT 9ol e IR ome 0 @ 027

TS PP el 31 1
UNIT—3
Ciib—o
Answer any four of the following
questions : 10x4=40
©o R 1 wifer 2R e fore

(@) What are the rules to be followed in
writing Do loops? Explain it with an
- example.

Do loop (SR 2¢Ce IRTR A FATTR
&, ft Srrger S=ES R 30

(b} What is control chart? Describe how it

is constructed and used.

Rz g 3w B a7 TR oa-gnd
HIF LT STIE IZeNR ot |

( Continued )

(9)

(c) Let x;, x5, .., X, be a random sample
of size n from a large population
X1, X5,y Xy of size N with mean WU

and variance 02, where

1
x —
n

&
ix, - %)

Then show that the sample mean is a1
unbiased estimate of pOP‘-ﬂa"lam'1 mean
but the sample variance 1S not an
unbiased estimate ©Of P°pulanon
variance.

™M= "ﬁ_Ma

n
N
[
0\
f -
[y
o
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(10)

(d) Write a computer program to evaluate
the following sum :

_I X2
g )X

for n =1to 10
nn+l) T

woTe Al QIsRFCh SRR B SIS
o2’ (S ¥ IS :

— n 2
g -y X3

; n=13°[/ 10 ¢
nn+1)

(¢ From a sample of 20 pairs of
observations, the following results are
obtained :

20 @R TR IR TS Al SAPAR CAIRT
2 :

X =186-2, TY =21.9, Z(X - X)%? =215-4
TV -7)2=86-9 Z(X-X){-¥)=106-4

(i) Estimate the regression line of X
onY.

Y I 8RO X TR {9 Qg 391 |

( Continued)

A

1]
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(11)

(i) Estimate the regression line of Y
on X.

X SoFS Y R 31 g 9

(i) Compute the mean value of Y
corresponding to X =10.

Y3 9% 3H s 391 @fem X =10 =& |

What is meant by ‘quality’ in
statistical quality control techniqu??‘
Discuss briefly its needs and utility 1n
business and commerce.

Ao e g orfoe ‘@ T

e e O SoopR (RS X

STl o AR ST e |
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3 (Sem-6) STS




